alx-1D(x+1)+b(x-1)+c(x+1)=2x>+x+1

@3 @ 2 ® 1 @ 0 ® -1

x? O] A5} 20| B8 g =2
x=19%, ¢c=2
x=-1%Y, b=-1
a+b+c=3




sfolzt.

_:F_

O
=

o, abc 9] %k

T

__o=._
m

0

(IS

<0
nso

©f groll TAgle]

=2

4, 2a
1H 2c=0

o
°

ik
ik

[e)
=
)

=

0

0

of x=2

FHl x=0
H
.C

. abc

&




1 -1 _ _ _
T2 Yo sl mE A4k, yol ofshe] B4 ax-+by+5 —

x+1 y-1 =

5 =T=ta}o}%
x=2t-1,y=3t+1

OlZ& ax+ by + 5 = 0°f st
a(2t—1)+bBt+1)+5=0
(2a+3b)t+ (-a+b+5)=0

o] Alo] = A4 rof tsto] AHofjoF st =
2a+3b=0---@
-a+b+5=0---Q

O, @ ddsto] =4

a=3,b=-2 . a+b=3+(-2)=1

B )
A_C

=5 o AD = BCAA o] &

3x+3=2y-2
3x—2y+5=02ax+by+5=0
La=3,b=-2




27} a, b2t S W, a + b O] F2?

© -8 @ -2 ® -16 @ 4

B2 b b - 62 x -2 x— 12 }EYS

T AR=

®:

mj ]




E 5 dAA] x -1, x-22 Y= fo] Yz = 22 2,
L f()E X2 -3x+22 UE o Yeze?

10]t}. ol
O x+3 @—x+3 ® x-3
@ -x-3 ® —x+1

fx)Ex-1, x-2& e Y& 42 2,10|82
f(1) =2,£(2) = 1, 7= UHAE ax + b2} AL
f(x) = (x*-3x+2)Q(x) +ax+b
=(x-1)(x-2)0(x) +ax+b
4zt x =1, x=22 YA




6.

o2},
> E:

[> &g 512

(12 = 3+ 1) -2 - 1)1 2 AA%E ), A5

O}NI
k)
flo

(4x _3x+1)5(x3
‘14—’] Noﬂ =1
(Aol F )

2x2—1>4 _ax22+bx21 et
Fgol 2t

gielets, RE A4
25 % (-2)* = 512




7. xo A f(x) B x-22 U Yo7t 50|11, x -3 02 R
w27t goltt, o] oAl (x - 2)(x - 3) &2 U= wjo] Y&

-5t
O x-1 @ 2x+3 @4x—3
@ 4x+3 ® 3x-1

~&B

2] Ao A £(2) =5, f(3) =
f(x)Z(x—Q)(x—?’)Q()+ax+b3}% ™,
f(2)=2a+b=>5, f(3)=3a+b=9
Aste] EHa=4, b=-3

S UHAE 4x-3




A f(x) & (3x+2)(x—4) 2 Whe U A7F -2x+14 ], f(x2+3)
- 12 U oA

o
=

B

fx)=Bx+2)(x-4)Q0(x)-2x+1---®
fF(P+3)=x-1)0 (x)+R---@

@9 FHol x =45 HYstA f(4) = -7
@9] FHo x =12 HYUSHH fF(4) =R

. R=-7




